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Maths:
I will be teaching daily maths lessons via Zoom at 9:30 every day. Click the link to join for a 30 minute lesson which includes a warm up activity followed by the teaching input. When the teaching input has finished, you will need to complete the days worksheets, which you can find, attached below.
Zoom link:
https://zoom.us/j/95442645965?pwd=TngrY1VSYUdjcVh1anJTdndzM2xCdz09
If you are unable to join the live zoom lessons, then you will need to use this link for a prerecorded teaching input:
Spring Week 2 - Number: Decimals | White Rose Maths
Monday: To multiply decimals by integers
Tuesday: To divide decimals by integers
Wednesday: To use division to solve problems
Thursday: To write decimals as fraction
Friday: To write fractions as decimals

There are two worksheets for each day, the second one being harder than the first. I would like everybody to complete the first sheet for each day and attempt the second, but please do not worry if the second sheet is a little too tricky as there are more reasoning questions. If you cannot print the worksheets don’t worry – you can jot your workings out and answers on paper at home 
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Multiply decimals by integers
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Use long multiplication to work out the calculations.
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e 0.25 kg of flour is needed to make one cake. ° Use the digits 1, 2, 3 and 4 once each to create a calculation.

How much flour is needed to make four cakes?
& e
] : x

a) How many different products can you make?

° Work out the multiplications.

o) 72x2= b) =345x3
72x4= =345x3
b) What is the greatest possible product?
184x48= =345x3
72x8=

© What is the smallest possible product?

0 Amir is solving 3.4 x 4

To solve this,
did 34 x 4, which was 136
Then I multiplied my answer
by 10 to get an answer
of 1,360

d) What is the product closest to 122

Do you agree with Amir?

Explain why.

Compare answers with a partner.
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Divide decimals by integers

o Use place value counters to work out the divisions.

00 |00
00|00
00
00

b) 123:3=

o Work out the division. Draw your answer.

164:4=

€ et uses short division to work out 132+ 6

Use short division to work out the calculations.

a) b)
72274 s[18148
© work out the divisions.
a) 256:8= 9 =1945:5
b) 148:4= € 20235:3=
) 1848:6= f) 105.12:9=
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e Esther solves 13.2 + 4 by partitioning 13.2 into two numbers that are
easier to divide.

132+4=33

Use Esther's method to complete the part-whole model
and calculation.

92:4= 165+3=

Compare answers with a partner. Did you partition your numbers in
the same way?

Y

@ work out the divisions.

a) 964+4=

96.4:4=

0964+ 4=

964:8=

b) 19.44 3 9=

1953+ 9

1962+ 9=

° Fill in the missing numbers. ‘

36:4=36+

36:4= +8

0 Complete the calculation.

84+ =42+

How many different solutions can you find?

What patterns do you notice? Talk about it with a partner. \
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Division to solve problem: o Dora, Ron and Teddy are making paper chains.

My paper chain
is 1.1 m long.

Dora's paper chain
is twice as long
as mine.

@ here are 1360 children in a school.
A quarter of the children walk to school.

How many children walk to school?

My paper chain
is three times longer
than Ror's.

a) How long is Ron's paper chain?

o Huan has saved his pocket money for 5 weeks.

He gets the same pocket money every week.

He has saved £16.65

How much pocket money does Huan get each week? b) How long is Teddy’s paper chain?

o Tom is running a 6-kilometre race. Q ° A water bottle holds 2 litres.

He has run one-third of the race so far. A leak in the bottle means 25 ml drips out each day.

How many more kilometres does Tom have left to run? How many days will it take until the bottle is empty?

days
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e @) A school bus can hold 30 people.

There are 726 children going on
a school

How many buses are needed?

b) A cake needs 4 eggs.
How many cakes can be made from 345 eggs?

e Shop A sells 5 tins of paint for £23.40
Shop B sells 3 tins of the same paint for £14.01

Which shop should Aisha buy her paint from?

Explain your reasoning.

IAESY
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© 146+ 5=29 remainder 1

117 + 4 = 29 remainder 1

This means that
M7 +4=146+5

Do you agree with Whitney?

Explain your thinking.

V'm thinking of a 3-digit number.
‘When | divide it by 5, | am left with a remainder of 3
When | divide it by 10, | am left with a remainder of 8
It rounds to 200 to the nearest 100

It has one hundred.

What could my number be?

Create your own problem like this for a partner.





image9.png
Decimals as fractions m ° a) Shade 0.17 of the hundred square.

o Complete the sentences.

@ o1 |o1|or|or|or|or|ar|or]|o01]|o01

The whole has been divided into equal parts.

Each part is worth

This is equivalent to

b)

The whole has been divided into equal parts.

Each part is worth

parts out of are shaded.

This is equivalent to

Complete the sentence.

parts out of

Write 0.17 as a fraction.

0.17=

are shaded.

b) Shade 0.2 of the hundred square.

Complete the sentence.

parts out of

are shaded.

Write 0.2 as a fraction in its simplest form.

02=
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Use the bar models to fill in the missing numbers.
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e Use the bar models to fill in the missing numbers.

]

Draw a diagram to show that Ron is wrong.





image11.png
Fractions to decimals (1)

o Complete the sentences.

a)

b) | | |
r
0

1
10

What is the same and what is different about the number lines?

e To convert a fraction to a decimal, you can use equivalent fractions
to make the denominator 100

Each square represents

100
x2
555 of the whole square s shaded. /\
12 2
is equivalent to as a decimal. 50 = 100 = 0.24
o \_Z/‘
Use this method to find the equivalent decimals for the fractions.
2 = .,
@ 5o~ To0 - 93575
B 6 _LJ_ 24 _L_
oo ©f the whole square is shaded. b) 5= = 9 556 =00

This can be simplified to ==

is equivalent to as a decimal.
PYTT——
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Fractions to decimals (1)
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